IPCE (New Syllabus)

| Paper -8 a_ Nov 420
RO NO. sisivsussacssanaasan.-xsenons Flnanchl Management &
Total No. of Questions — 11 and Fcanomicefor Finance.r. ., /o ¢ Printed Pages - 24
Time Allowed — 3 Hours Maximum Marks — 100

CLB-H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,

his/her answers in Hindi will not be valued.
SECTION-A Marks : 60

Question No. 1 is compulsory.
Candidates are also required to answer any four questions from the remaining
five questions.
Working notes should form part of the respective answers.

All the calculations should be done upto 3 decimal places.

Marks
1. (a) F.ollowing information relates to RM Co. Ltd. S
(9]
Total Assets employed 10,00,000
Direct Cost 5,50,000
Other Operating Cost 90,000

Goods are sold to the customers at 150% of direct costs.

50% of the assets being financed by borrowed capital at an interest

cost of 8% per annum.

Tax rate is 30%
CLB-H P.T.O.
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You are required to calculate :

(1) Net profit margin

(ii) Retufn on Assets

(iii) Asset turnover

(iv) Return on owners’ eqnity

(b) "CK Ltd. is planning to buy a new machine. Details of which are as 5

follows :

Cost of the Machine at the commencement T 2,50,000
Economic Life of the Machme s 8 year
Residual Value = Nil

Annual Production Capac1ty of the Machine 1,00,000 units
Estlmated Sellmg Prxce per unit 4 6.

Estimated Variable Cost per unit T3

Estimated Annual Fixed Cost % 1,00,000 '

(Excluding depreciation)

Advertisement Expenses in 1* year in addition of

annual fixed cost ] T 20,000
Maintenance Expenses in 5% year in addition of

annual fixed cost ; : < 30,000
Cost of Capital 12%
Ignore Tax.

Analyse the above mentioned proposal using the Net Present Value
Method and advice. '

CLB-H
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P.V. factor @ 12% are as under :

Year 1 2 3 4 5 6 7 8
PV Factor 0.893 0.797 0.712 0.636 0.567 0.507 0.452 0.404

(c) The following figures are extracted from the annual report of RJ Ltd. : 5
Net Profit T 50 Lakhs

Outstanding 13% preference shares T 200 Lakhs

No. of Equity Shares 6 Lakhs
Return on Investment 25%
Cost of Capital (K,) 15%

You are required to compute the approximate dividend pay-out ratio

by keeping the share price at ¥ 40 by using Walter’s Model.

(d) TT Ltd. issued 20,000, 10% convertible debenture of ¥ 100 each with a 5
maturity period of 5 years. At maturity the debenture holders will have
the option to convert debentures into equity shares of the company in
ratio of 1 : 5 (5 shares for each debenture). The current market price of
the equity share is ¥ 20 each and historically the growth rate of the
share is 4% per annum. Assuming tax rate is 25%. Compute the cost of
10% convertible debenture using Approximation Method and Internal

Rate of Return Method.

PV Factor are as under :

Year 1 2 3 4 5

PV Factor @ 10% | 0.909 | 0.826 |0.751 [0.683 | 0.621

PV Factor @ 15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497

CLB-H P.T.O.
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2. PK Ltd., a manufacturing company, provides the following information : 10
®

Sales 1,08,00,000
Raw Material Consumed 27,00,000
Labour Paid 21,60,000
Manufacturing Overhead 32,40,000
(Including Depreciation for the year ¥ 3,60,000)

Administrative & Selling Overhead 10,80,000

Additional Information :

(a) Receivables are allowed 3 months’ credit.

(b) Raw Material Supplier extends 3 months’ credit.

(¢) Lag in payment of Labour is 1 month.

(d) Manufacturing Overhead are paid one month in arrear.

(e) Administrative & Selling Overhead is paid 1 month advance.

(f) Inventory holding period of Raw Material & Finished Goods are of

3 months.

(8) Work-in-Progress is Nil.
(h) PK Ltd. sells goods at Cost plus 33 %%.

(i) Cash Balance ¥ 3,00,000.
() Safety Margin 10%.

You are required to compute the Working Capital Requirements of PK Ltd.

on Cash Cost basis.

CLB-H
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J Ltd. is considering three financing plans. The key information is as follows :

(a) Total investment to be raised T 4,00,000.

(b) Plans showing the Financing Proportion :

Plans | Equity | Debt | Preference Shares
X 100% - =
Y 50% | 50% -
y4 50% - 50%
(¢) Cost of Debt 10%
Cost of preference shares 10%
(d) Tax Rate 50%

() Equity shares of the face value of T 10 ‘each will be issued at a

premium of ¥ 10 per share.

(H Expected EBIT is ® 1,00,000.

You are required to compute the following for each plan :

(i) Earnings per share (EPS)

(ii) Financial break even point

(iii) Indifference Point between the plans and indicate if any of the plans

dominate.

CLB-H
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4. A Ltd. is considering two mutually exclusive projects X and Y. 10

You have been given below the Net Cash flow probability distribution of

each project :

Project-X Project-Y

Net Cash Flow (X) | Probability | Net Cash Flow () | Probability

50,000 0.30 1,30,000 0.20
60,000 0.30 1,10,000 0.30 °
70,000 0.40 90,000 0.50

(i) Compute the following :
(a) Expected Net Cash Flow of each project.
(b) Variance of each project.
(c) Standard Deviation of each project.
(d) Coefficient of Variation of each project.
(ii) Identify which project do you recommend ? Give reason.
CLB-H
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The following data is available for Stone Ltd. : 10
®
Sales 5,00,000
(-) Variable cost @ 40% 2,00,000
Contribution 3,00,000¢
(-) Fixed cost 2,00,000
EBIT 1,00,000
(-) Interest 25,000
Profit before tax 75,000

Using the concept of leverage, find out

(i) The percentage change in taxable income if EBIT increases by 10%.
(i) The percentage change in EBIT if sales increases by 10%. |
(iii) The percentage change in taxable income if sales increases by 10%.

Also verify the results in each of the above case.

(@) List out the role of Chief Financial Officer in today’s World. 4

(b) Explain in brief the methods of Venture Capital Financing. 4

(c) Distinguish between Unsystematic Risk & Systethatic Risk. 2
OR

What is Risk Adjusted Discount Rate ? 2

CLB-H P.T.O.
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SECTION-B Marks : 40
Question No. 7 is.compulsory.
Answer any three questions from the rest.

Working notes should form part of the respective answers.

(a) Compute the amount of depreciation from the following data : 3
(R in Crores)
GDP at Market Price (GDPyp) 8,76,532
Net factor income from abroad (-) 232

Aggregaté amount of Indirect Taxes 564
Subsidies 30

National Income (NNP) 8,46,576

(b) Discuss the guiding principle 6f WTO in relation to trade without 2

discrimination. |

(c) “Money performs many functions in an economy.” Explain those 3
functions briefly.

(d Describe the characteristics of ‘Public Goods’. 2

CLB-H
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8. (a) You are given the following information of an economy : 5

Consumption Function . C=200+0.60 Yd

Government Spending . G=150

Investment Spending : 1=240

Tax . Tx=10+0.20Y

Transfer Payment : Tr=50

Exports : X=30+0.2Y

Imports , : M=400

Where Y and Yd are National Income and Personal Disposable

Income respectively. All figures are in ¥,

Find :

(i) The equilibrium level of National Income.
(i) Net Exports at equilibrium level.

(iii) Consumption at equilibrium level.

(b) (i) Discuss the “Fiscal Policy Measures” which are useful for 3
reduction in inequalities of income and wealth.
(i) What is the impact of the following on credit multiplier and 2
money supply, if Commercial Banks keep :
(1) Less Reserve ?
(2) Excess Reserve ?
CLB-H P.T.O.
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9. (a) (i) ‘The Heckscher Ohlin theory of Foreign Trade’ can be stated in 3

the form of two theorems. Explain those briefly.

(i) ‘Lemons Problem’ is an important source of market failure. How ? 2
(b) (i) Compute M3 from the following data : 3
Component Tin Crores
Currency with the public 2,25,432.6
Demand Deposits with Banks 3,40,242.4
Time Deposits with Banks 2,80,736.8

Post office savings Deposits

(Excluding National Saving Certificates) 446.7
Other Deposits with RBI

(Including Government Deposits) 392.7
Post Office National Saving Certificates 83.7
Government Deposits with RBI- 102.5

(i) Clarify the concept of ‘Average Propensity to Save’ with the help 2

of formula and example.

CLB-H
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10. (a) (i) Explain the various types of externalities. 3
(i) Which method is used in India for measurement of National 2

Income ? Also, state the method which is considered the most
suitable for measurement of National Income of the developed

economies.

(b) (i) Following exchange rate quotations are available for different
periods :
(1) The spot exchange rate changes from ¥ 65 per $ to T 68 per $.

(2) The spot exchange rate changes from $ 0.0125 per rupee to
$ 0.01625 per rupee.

Answer :
(A) Identify the nature of rate quotations in (1) and (2) above.

(B) Identify the base currency and counter currency in (1) and

(2) above.

(C) What are possible consequences on exports and imports of

(1) and (2) above.

(ii) ‘-‘Thé deposit multiplier and the money multiplier though closely 2

related are not identical”. Explain briefly.

- CLB-H P.T.O.
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11. (@ (i) What is the meant by ‘Stamtory Liquidity ‘Ratio’ ? ‘In which 3

forms this ratio is maintained ?

(i) Explain the concept of soft peg and hard peg exchange rate 2

policies.
(b) (i) In which sectors Foreign Investment is prohibited in India ? 3
(i) Explain the market outcome of price ceiling through diagram. 2
OR
What is meant by ‘Countervailing Duties’ ? 2
CLB-H
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Marks

34 TR ) Sew Rirgiy R arem w1 &, weat & I e S A DA E |
a8 shameff e et mem adi g }, IR R i smm d, A R A fR @

I T HATRA TE B |
WRI-3
w9 w1 AfE
A yie S A § R o Sl o IR i |
% fewforf (Working Notes) TR 3 WIT 811 91fRT |

aoft 7o e e T ek B SR |

1. (a) M Hue fafies § wefRe effam e ser A e

O .
g dsfora fafer 10,00,000
T ETd 5,50,000 -
A HIEAE AN 90,000

ITHIEITAT ! AT TeIS AT & 150%111%%!151131%1 |
FST TEIET BT 50% BT URT & 8% Tl o Y g & e Jrar |

FHRT30%R |
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Fan frfefaa <t o -
() & v
(if) 90 e
(i) T T TN
(iv) e st sfdt s

® @ R i el Y, P R R Ry S

TR H 7 1 g ¥ 2,50,000
HIH T SRS Y | 8#&
LI =

73 6 1fife IedreT &man 1,00,000 SHTEAT
T TS 1 AR ed X6

i TS STTATG IR rTa T3

FAATa e Tfeee ow (e Sesr)  © ¥ 1,00,000
yom ¥ A fow sm-afiis e g &

Ffafe T 20,000
T 9Y § e F-aie (ffad fmg & ,
R | Z 30,000
qSit <t AT 12%
T

Wﬁwwmaﬁmwmpv)ﬁﬁm'ﬁiﬁaﬁw
gaE g |
CLB-H

© The Institute of Chartered Accountants of India



(15)
CLB-H Marks

b4t PR @ 12% A
CL ] 1 2 3 4 5 6 7 8

fieft Sy 0.893 0.797 0.712 0.636 0.567 0.507 0.452 0.404

(c) M &1, i arffers fard @ Fafeifaa stfere forw o & - 5
& A T 50
T §U 13% BT I T 200 @
HEECIREIET RS e 6 T
E SIS 25%
hfieat 1 He3 (K,) 15%

FY T 1 T 40 T @H, TeeE ATee gRI ST SREH SFTAT
H AT R |

@ & A 320,000, T 100 T F 10% YREde FawR 5 o H S

arafy & fore ot fopu | uftwem arafer o wrg feser miferes e =

HA % 3fRrdt A 1 : 5 F AU (T3 fEs=R & west 5 v d

IS FHAT 2 | 3t AR T TAHH TR Ted T 20 B qT W H
UferaTiren gfg T 4% a1 8 | & 25% A & | 10% TREd-eier
FYEH &1 qed rguTia fafdr qen sriafes fed @ fafe % gr o

A |

ot St e femrmn @

L 1 2 3 4 5

9. HFet @ 10% | 0.909 | 0.826 | 0.751 |0.683 | 0.621

.. SFRT @ 15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497
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2. H% ., S o Searesiier s 2, 3 Pefefea e sem R R 10
()

fashl 1,08,00,000

== HIS T 27,00,000

L[] 21,60,000

IeqTe 1 At = 32,40,000

(Rrasi a9 #1 2 3,60,000 1 Termre oft aflfera B)

sremEfes aen fersht o srfafar == 10,80,000

ol g2 -

(a) TrEfiosea =i 3 9éH w1 shfee T srar 8 |

(b) A AT o TATIE i 3 HEH HT S |

(c) WGl T < fore 1 w1 o A B |

(d) A=preieT Affeh = SFTam i 1 wEA & T A fhar Smar |

(e)
®
€))
(h)
(i)
@)

seTE b 3 fersht srffiar = i 1 7R 1 Tea@ d g A | |

HA AT & TNSha S T FHI - TR0 95T 3 AE R |
18 S T A& R |

6 % f7. T Fa A 33§% s WA |

TS "rh! (AW) ¥ 3,00,000.
T (AR TRE 10%.

HTYH! Tohe ANTA YR W R & 1. it swrdsfiet Gt srawashar i Tom
HEAR
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3. 9. . 3 ferfer diemel w e @ & | e Sk frergem s 10

(a) mlﬁﬁﬁ%m? 4,00,000 TG T |
(b) fereftr T AT -
dd AT e
X 100% - -

Y 50%  50% -

z 0% - 50%

(c) Ul I ex 10%

YR IR T T 10%
@ | 50%
(¢) A T R 7w 2 .10 Bom, 2 10 F el e ® 9@ g
(f) STI9IE EBIT % 1,00,0008 |
F1 S 2 3 Pt Fad
() SOF IR W IR (BPS)
) Frfaagemfeg
(i) AT & HeA FHAfEHiE qTge qo1 wAR B © Ao st wfaa

2|
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4, &N ER A IRESTS AT TR AT R 10

TR FIE I el TS FATE EHTEAT TRt fen TR |

gfeT-3 qfta’mm-.j
THA T VEATE R) | WO | Tt TG T8 () | W
50,000 0.30 1,30,000 0.20
60,000 0.30 1,10,000 0.30
70,000 | 040 90,000 0.50
(i) T IUET R :

(a) T IR & ST Fhet TS} SR
(b) T e & fererem (IfEE)
(c) T TS 1 Weg fefedsm (S.D.)
(d) T 9T 3 fAT Coefficient of Variation.
(i) SO FATH AT HIA H IRAIST 9EE BT 7 R TAH |
CLB-H
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5. wFfa. & fog fefafaa e e
(9]

fesh . 5,00,000

(-) IRTE & @ 40%  2,00,000

(-) Fifeaa @ 2,00,000

g s (EBIT) 100000

(-) S 25,000

Y g 75,000

ofeer 3 i (i) gro.var

(i) aﬁEBITm%mé,a’rmhmﬁﬁmﬁ%wﬁaﬁqmj
(i) Afe FomhY 10% wget &, <t EBIT & e % w1 aitaed= @ 7
(iii) T TR 10% Tgdt 8, A X T 3 | fa % 1 IREdT & |

IIH Tk qHA § TRomT i oft i i |
6. (2) FAWH TR ¥ Y@ frefle arfert (CFo) FT e wri R 4
¢ SRR Ry ’
() RrcifewaoRiw ewdwmame 2
g
T weefeee e wwn d ¢ 2
CLB-H P.T.O.
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w-q Marks : 40
WY T 7 AT ? |
WY T H @ e o Tl % I R |
wrefter feoaforat s % s g |

7. (@ ﬁnaﬁr\gﬁﬁmaﬁrwﬁtwqﬁmﬁaﬁﬁw 3
@S 2 )
STSIR 79 W TSt T ICE (GDPyp)  8,76,532
forgw @ yg s o™ (-)232
FEE R R FATN 564
S 30
TS 3T (NNPyc) 8,46,576

(b) Tava SR TTEF (WTO) % WewE & form =R wriesis fagia w 2

(©) “Teh e § uE wgd @ wE fsqrie et & S ER R ERT g
LELEIR
(d) ‘TN S’ % @ w1 quie R | . 2

CLB-H
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(a)

(b)

@1)
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HTIhH! Tk eferaeen i fim g & §
ITHNT B : C=200+0.60 Yd
LICANRCE] : G=150
fraw o : 1=240
Ly : Tx=10+0.20Y
TR T : Tr=50
frata 1 X=30+02Y
amﬁa : M=400

& Y a9 Yd AN U A qu1 SafRea SEsg o § | aeft
A THE |

i <HIR :

() TSI 3 T A &R

(i) T TR W g i

(iii) T TR ITHRT

() I T Hifa umal’ R -t i S fF st ok

¥ 1 Feramanan ® o 0 & forg Iwh €

(i) ﬁnwmwamiﬁmwmm,ﬂﬁm
& |

(1) FARITEAE ?
Q) AN HTTEIE?
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@ () foreft=mm % dRR-ieea Rigia ®t Q) il 5 ¥9F =
fopan < wepa R | ST wew § S iR |
(i) ‘i TR (Lemons Problem) TSR 3! faherdt 1 T HEwqul
Hag 1 7

) () = atwsi @ M3 i oET Hifv

weH Fg T H)
ST o 91 R 2,25,432.6
et & a1y HiT S 3,40,242.4
Sehi o I THY ST 2,80,736.8
ST & Sod ST
(U T T I B §9) 446.7
feddes s =TI
(@RI STt ) e W g9 392.7
EERIRICARE ELEILED 83.7
feord e & AT TSI ST 102.5

(i) ‘3hwa w=@ TR A AEURM H FI T I B FEEQT §
e Hif |
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10. (@) (i) T v % e wne! # awemee |

(i) T 3 H 79 F forw wa § w5 o Bift =1 52m e s

(®)

TS 314 & 19§ a8 Iuger TSt e R |
Tl araftr & ferg fr e 2 sgeor soeren €

(1) TR (Spot) fafem X 2 65 it $ & 2 68 uftr § yiEfia &
AR |

(2) ERR (Spot) Rafr gt $ 0.0125 WY w72 | § 0.01625 Wf
9T gREfed 8 St 2 |

I @i -

(A) ST (1) T (2) ¥ Ig0N hi ypla 1 gg=m |

(B) I (1) F (2) ¥ YR g1 o H13X 51 Y T |

(©) wﬁwanﬁum%ﬁaﬁaaﬂmxﬁmmaﬁnﬁaq&m

CoIk

(i) ST T 3R Hg T gt et & w2, wwe T

& 1" 989 o 9w |

Marks
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1. (@) @) iR o oG § w0 a6 o ¢ ? 98 AgoE e 3
% &g T e & ¢

(ii) Wt{ﬁaﬂ'{ &1 U (soft peg and hard peg) fafrma &t fifaati 2

" JTEYTOT ) ST |
) () i fe e i ke ffe g 2 7 ?
(i) e HHT BT A TR h) Y@ & HTead | dwse | 2
Fgan
qRRETeRI FHdedl | | I THET AT R ? 2
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